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MGC - 14 musnisnEn
Tz -1
SECTION - 1
(3w ) ¥= ¥ -30, 376-02)

wm -1

1. 02519 %#mimﬁﬁm

Express 0.251 as a rational number in the form %
z/% i . % ol 4 s s 3

Find 4 rational numbers betwaen

/NfZABC=234

HA:B:C=2:3:4henlind the value of

1
and 2

1
3
C
*A' %1 5[ g fifa
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4, wa_n!-’taﬁﬂwﬁaMmtﬁMzme.mmmﬂfmmznﬁaéﬁuﬁm
Fean s )

When n is divided by 3, the remainder is 2. Find the romainder when 2n is divided by 3.
W - 2

A g3 ABC, o 1l 3 Fkwiiw A (4, ~ 6), B (3, - 2) @41 C (5, 2) &, &t ¥z & Pdariw 3
EAEE

Find the coordinates of the centroid of a Irangle ABC, whose vertices are A (4, - 6), B(3,-2)
and C (5, 2).
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%so"am 135° 1 e 1l aqam fam )
Express 60° and 135° In radians.
3, 68,1, @ feaitard ow wa %) & Y dawa wa fifa)
Find the total suﬂac:a area of a cubo of edge 6 cm

47 farg ¥ B wa 003 (5, 2) T (2, 5 el tevavz @1 2 ;1 9 s Banfa
A 3

Find the coordinates ol tha paint which divides the join of the points (5, 2) and (2, 5) n

the ratio 2 : 1 intemally.
WM -3

1-1) (1001), % anfivs s | gitaffa Hifa )
il} (10.11), &1 @nbiw s 0 WA e 1

i) Convert (1001), into Decimal numbers.

i) How to write {10.11), in Decimal numbors ?

2, A7 B @ w9 %Y U 92 (ovent) §F 1 wifzmar 0.7 214k A @ B F uF w16 £ H
S
aifiwm 0.2 91 @ P(A)+ P(B) %1 we 7@ i |

Tho probability that at least one of the events A or B happens is 0.7. I probabity of

happening both the events simultancously Is 0.2 then find the value of P{A) « P(B)
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3 - 10 14 % dfta 3 wrr e fad |
Insert three A.M.'s (Arithmetic Means) between ~ 10 and 14.
y(ss),oih faamnd) si% ¥ yhafda £
Convgn (56), Into Binary number,
Wi - 4
ymmﬁm: 150 %1 25 % + 750 1 75 %.

Evaluate 25 % of 150 + 75 % of 750.

2z % 1 wfvea | safem |
/
27
Change 35 into percentage.

3. uf Ry g 150 %, 01 @ 25 % B A I 39 9 @ i)
7"

Find the cost price of an article il the selling price is Rs. 150 and the prolitis 25 %.

4. ) 37 T 4m 140 B | 2f2 U 356 W 2 % o) Gl 3T T 5 % wown § | @ 3 35 1 i T

rd
aaq B 3ig H AR T w0 qw A i)

The sum of two numbers is 140. If 2% of one equals 5 % of the other, find the sum of 3 times

the bigger number and 4 times the smaller.
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1. 7 PROMOTION ffl wisfas wia W QSPg9 w0 foren wan @) v WS W A e

DEMOTION 1 &8 feren smem 7

PROMOTION is written in some coded message as QSP89. How vall DEMOTION be

coded 7

2 qmmimmwmmﬂimc-maiwﬂﬂtim.m:ﬁuﬁiﬁmﬁﬁmmlm
~
fF weh A e R wA el | U T

A student got twice as many sums wrong as he got right. Il he attempted 48 sums in all,

how many did he solve correcily ?

/3,. a2 x a3 s A, + 1 v wa, - 30 d T et + 1 3 M A, T 8x7 -8 +40+2 HHA I
difa |

Il x means addition, + means subtraction, - means multiplication and + means

division, then find the value of 8x7-8+40+2.

4. azfed ) uw gffa ¥, smm o Al @ 10 1 & @ s 2l @ 9 = B, weew wiE wzef ) af
>
“ 4fié %) 32w, Asha (sirn) Il @ 15 A1 ) w4 dfda i e T wsfei @ 7

In a row of girls, if Asha who is 10™ fromi The left and Meena who ts 9'M from the right,

change tholr seats, Asha becomes 15" from the loft. Find the number ol girls in the row,

5 ~ - 06
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w|vE - 2
SECTION - 2
(3ut ) 7=z n-60, 3H-04)
W -1
7t
5 i, 12830, 138, . ., 24 dhareh wamsi % 14 T @ Sesa a0
Find the tolal area of 14 squares whose sides are 11 ¢cm, 12cm, 13¢em, .. .. 24 cm
respectivoly.

6. vz =@ 160 3. O T @ R ) ap @ ufh D) o e T @ fm w95 % wififs
wraen =ra fireran B, 3 won s @ ) efwa ofn v, 2008.40 wA ¥ e, Fa e v & B
gt oifn son wel) e 2 :

Ravi saves Rs. 160 every month and puts it in a recurring deposit account paying 8.5 %
simpic nteresl per annum. In order 10 get malurity amount of Rs. 2008 40, how many
monthly instalments of this amount must he deposit ?

o - 2

5 Anja ABC & 3iid Regsil s Frdanis wn: (- 2, - 4), (4, 3) @ (- 2, 5) B
) gt ABC %1 ftawa wia E1fad |
i) #01 R A, B wn C wiea # 7

The coordmates of the vertices of a AABC aro (-2, - 4), (4, 3) and (- 2, 5) respocively.
i) Findthe arca ol AABC.

i) Are points A, B and C collinoar ?
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6. wk ¥k ABCD ¥ st wif w1 g wipfa ) TR it ) vl w21 o @
AB+CD=BC+DA,

A dirclo, inscribed in a quadrilateral ABCD, touches all the four sides of the quadrilaleral.
Ptovgmal AB+CD=BC+DA-

wm -3

5. ABCD . arf & Frae) ndi sy it aand 4 A, 2 o faeg P el v & st el
$10 R P o AB W s W A ) i A iy
ABCD is a square of length 4 cms. if a point P is plotted at random inside the square, then
find the probability of tho point P to sublond an acule angle on AB.

6. ufz dt vadifes wfdal X, Y mn Z 61 avafimm mHan § %, 45 % a1 40 % ¥ @l 70 I W
i i i |
omammwmmmmny«mwumwmmx.ku
thoy have secured 5 %, 45 % and 40 % rospeclively of the eleclorale.

wm -4

}.A%mmﬁmaﬂm&wﬂ&aﬁfuﬂmwmﬁ 18 faa i wrdt &, 91 A S5 18

Fmw A fmdmueme ?

Als twice as good a wotkman as B and together they finish a piece of workin 18 days In
how many days will A alone can linish tho work 7
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G/Qtwﬁnmlmtng@ 1 630, = 10 Bfz A, awvam & olaga 1 Bl |aw

30 Pz 1§ 7w wean & w waig 6 nfa ga Do

A person rows 1 km downstroam in 10 minwtes and 1 km upstream in 30 minutes. Find the

speod of the stream,

wm -5
ymcooammma 26 famn wan & aw DEVIL ¥ fen v 51z 1 i)
I GOD is coded as 26, then swhat will be the code for DEVIL ?

6. af2 wra ) wum w2 8,

7 s 4 iz e 8,
.uhamm'lt.
ng:ﬁi(mt
® e w7 wam )

It “CLOUD" s called "RAIN",
“RAIN" is callod "WHITE",

"WHITE" Is cabied "SEA" and

*SEA is called “SNOW", then where do ships sail 7
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SECTION -3

(35 ) w2 Wi=i-100, 3i%-08)
-1

7. R p (x) = x* « 27~ 3x% + ax - bW (x ~ 1) 3 (x ~ 2) A WA 23 GAGEA $HE: - 1870
T WA e B ) IvEs Wiy e g
) a@ b WA ¥ HNRA |

) warsd B wge p (x) ¥ (x + 1) R 9 23 9 AEA w0 7

When a polynomial p (x) = x* + 2x7 - 3x? 4 ax — b Is divided by (x - 1) and (x - 2), the
remainders aro respectively ~ 18 and zero. Using remainder theorem
i) Find tho valves ol aand b,

li) Determine tho remainder when p (x) is divided by (x + 1).

" -2
7. uf% cos0+sin0 = /2 cos0, g1 A frz Hfie & cos0 - sind = Y2 sin0.

I1 €050+ $ind = /2050, then prove that cos 8- sin® = Y2 sind.
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wm -3

7. s A, @ w@ Dfi

784 + 511 - 287 - 186 + 432 - 279

Simpidy, using Veodic method.

784 + 511 - 287 - 186 + 432 - 279

wm -4

7. Bl @ w3 w10 % @nffE @ A 2§ D 99 W 9w s s s s w0 s

400 %, & 1 @ sEaa wia e

The ddlorence between the compound Interest and the simple interest on a certain amount

at 10 % por annum for 2 years compounded annually is Rs. 400. Find the principal.

wm -5

7. AR afeem A, (7) & 1R 1 v e i -

Wirite the number for (?) in tho table given below :

2
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o - 4
SECTION - 4
(7 ) w=2 ¥ -250, 35%-20)
(v oz | fafir wmil @ 5= 03 wea Rg and |
sovaefi w6yt @ wtd 02 3w ¥ wh)

W -1

8. v ) mftes 3w Rs. 75,000 8 1 78 PF (wh f3fi7) ¥ el Rs. 3,500 97 arg s 21
3 A W 3 LIC 9 25,000 7 PPF #) 15,000 € 5 (Premium) %0 1 1ma & 3w 3
WA e W 10,000 ¥, (100% §2) a1 NAria § 16,000 ¥, (50 % 2) ¥l 2m fad
R e Wl wifew s @ R 11w R 8,000 ¥, st Y 9 @ wre & e i R
v syt ot 2 w7 (wea & i o wned ).

Akash's monthly salary is Rs. 75,000. Ho contributes Rs. 3,500 per month lowards
PF (Provident Fund). He also paid Rs. 25,000 as premium for LIC and Rs. 15,000 towards
PPF. Akash donated Rs. 10,000 (100 % exemption) to Prime Minister's relief fund and
Rs. IB.Owbmmplw(SO%exm).mMimw.hehasbm
al the end of the year, if he 8,000 per month has already been deducted as tax from his
salary for the last 11 months.

Slabs :

Taxable income Income tax
0-2lac NIL
2lac-Slac 10%
Slac - 10 lac 20%
10 lac and above 30 %

Education cess = 3 % of tax 1o be paid.

11 06
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W -3

8. i) vefam ) Rfea Bfan aa vl@s P = avi Hif 10
Describe the characteristics of algorithms and explain each characieristic.

)f?am%%m&ummmﬂ&m 10
lnseﬂ2hannonlcmansbe!mon7and-;—.

){ﬂmmam.ﬁiﬂwﬁ%mﬁl
ﬂmmm&ﬁmtﬁ!|§mu=ﬂadi=m’tmrmntmmmmﬂ€smﬁm.
fra e wiga
n7A B, @ fada moa 8w «f 7 8 0@ T gl 5B A o 2 o b b ad
aar i Fsfeal @, va fda s 6 Qal B g aga 332
) RmaEyamaEn g ?

) mpaHivhi|maname?

3) 3 i R @ am g @ 7

4) wr=n sl g | ¥ e @ 2

5) frn B, o = 4 wew qaEn 2 7

Sudha and Ashok are children of Mr. Mishra. Sudha marries Sunil Sonl and Nisha, Riya

and Rahul are born to them,

Rahulis marnied to the eldest daughter of M. and Mrs. Goyal Surbhi is youngor 1o Shnuti
and older than Sakshi and all are daughters of Mr. and Mrs. Goyal. Tanya is Rahul's

daughter.

— ——————

B T X 06"
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Read the above information and answor tho questions given below :
1) What is Nisha's sumame ?

. 2) Who is Rahul's vafe ?

3) How Is Ashok related to Riya 7

4) How is Tanya related to Sudha 7

5) How would Riya address Mr. Mishra ?

wvE -5
SECTION -5
(77 A w2 dhar-500, 3i4-40)
(v% wvz ¥ fafva vl 28 = 02 wea f2o =
el &1y 7w 01 I 23 7))

- 2

8. i) @ FAABC® XY | AC ma1 XY, Fnga ABC %17 5 i 8 wfemn @ @) AX : AB #1811
w14 Hifam ) 20
In a tdangle ABC, XY | AC and XY dwides the area of the triangie ABC inlo two
equal parts. Determing AX : AB.

1) 10 em. @ a0 s o0 % 90° B | gl avga av Framdmsd ) frand g v
g ® Prio @0 ) w vig ® wme am Hfa 20

3 A soctor of a circle of radius 10 cms. has the angle as 90°. It is rolled up so that the

two bounding radh are joined together 1o form a cono. Find the volume of the cone

5 N 13 B 06
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8. 2) 91 A 7 el N ona A wF T g 1 wE F s

v 3 sl @ Pt we wan-aem A § o quaw wae wafen B ) fae @

wE )
ren-_.... ua WA fhen faym wi wadvs | WErR /e
wwarafa B
l quesw o | ¥ 50 [ % 75w | . 1@ % 1@y %, 75 59K
R
| =t - = 15 ﬂ 04 | 20 # 18 01
e - 19 02 25 20 02
gend - forman 13 20 04 2 03
W - fa 14 08 21 R 04

i) v & G 3 RA m quesn, e queERt s R gl @ 7
iy wadt v quesn Reu @3 | A 7

i) v w3 2 qoen fen F 9 6, 3 weeda J w1 s ¥ 830 03 e om

Hea a0 wea ufa @@ |

i) R ien 3 36 % uff T W A W W o T & m e afa R 7

e a 06




8. a) Study the following lable carelully and answer the questions

From January to Decomber, stato has organised many award coremonies in differont
fields. Dotails are given below |

MGC - 14

Field ——» Sports | Entortalnmont | Education ::::::':;: Social Service
Timeo Period :
Awded amount | RS- S0.000| Rs. 75,000 Rs 1 lac Rs 1lac Rs. 75,000
e
January - March 15 04 20 18 04
Apdl - Juno 19 02 25 20 02
July - Seplember 13 20 o4 22 03
October - Doounbml 14 08 21 16 04

number of awards ?

i) In which field, maximum number of awards were glvon ?

iil) An organisation won 2 awards in the field of ‘Education’, 3 in social servico and
1in tho field of “Entertainment’. Writo the total amount rocoved by tho organisation,

) The organisation has donated 35 % of the amount rocoived. How much monay is
left with the organisalion ?

i) Number of awards given in the field of ‘Ententainment’ is what percent of total

+ b)) W gEIAC A vk ) e & 2 e )y w35 % g2 aa gl w20 % @ AR g2 )

P — - - -

i O W2 ¥ faa e i 22 %, w1 s s ) v ®2 @) sifea seu ma ofaa 10
A shopkoopor sold two coats of the same value. Ono was soid at 35 %% discount and
another ot two successive discounts of 20 % cach. Tho ddforence between their
selling prices comes out to be Rs. 22, Find the marked price of one coal,

15
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